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1. You need to load information about new customers from the

NEW_CUST table into the tables CUST and CUST_SPECIAL. If a new

customer has a credit limit greater than 10,000, then the details have tobe inserted into

CUST_SPECIAL. All new customer details have to be inserted into the CUST table.Which

technique should be used to load the data most efficiently?

A.external table

B.the MERGE command

C.the multitable INSERT command

D.INSERT using WITH CHECK OPTION

Correct:C

2.View the Exhibit and examine the description of the CUSTOMERS

table. You want to add a constraint on the CUST_FIRST_NAME

column of the CUSTOMERS table so that the value inserted in the

column does not have numbers.Which SQL statement would you use to accomplish the

task?

Table CUSTOMERS

Nama HqE Type

CUSTO D NOT MULL | NUMBER(S)
| ) CUST_FIRST_MNAME NOT NULL | VARCHARZ(20)
TIMESTAMP{S) CUST_LAST NAME NOT NULL | VARCHARZ(20)
(WITHLOCALTIMEZONE CUST_ADDRESS CUST_ADDRESS_TYF
VARCHARZ(E) == PHONE_NUMBERS PHONE_LIST_TYP
NI HLS_LANGUAGE W\RCHJ\RZ@}_
NUMBER|2) NLS_TERRITORY WARCHARZ(30)
NUMBER|E Z) CREDIT_LIMIT NUMBER(,. )
NUMBER(B) CUST_EMAIL MARCHARZ(30)
NUMBER|B) ACCOUNT_MGH_ID NUMBER®)

_NAME
PRODUCT_DESCRIPTION VARCHARZ|2000)
CATEGORY_ID NUMBER(Z)
WEIGHT_CLASS NUMBER(1)
WARRANTY_PERIOD INTERVALYEARIZ)

TOMONTH

SUPPLIER_ID NUMBER(E)
PRODUCT_STATUS VARCHARZ(Z0)
LIST_PRICE NUMBER(B.2)
WIN_PRICE NUMBER(E.2)
CATALDG_URL VARCHARZ{S0)

CUST_GEOQ_LOCATION

MOSY5.500 GEOMETRY

DATE_OF_BIRTH

DATE

MARITAL_STATUS WARCHARZ(20)
GENDER VARCHARZ(1)
INCOME_LEVEL MARCHARZ (20
WWARCHARNS0)
NVARCHARZ{2000) |
Name 7 T
» {WARERDUSE_ID NUMBER)
WAREHOUSE_SPEC SYS AMLTYPE
WAREHOUSE_NAME VARCHAR2{35|
LOCATION_ID NUMBER{4)
WH_GED_LOCATION MDSYS5.5D0_GEOMETRY]

A.ALTER TABLE CUSTOMERS ADD CONSTRAINT cust_f_name

CHECK(REGEXP_LIKE(cust_first_name,'*A-Z"))NOVALIDATE ;




B.ALTER TABLE CUSTOMERS ADD CONSTRAINT cust_f_name
CHECK(REGEXP_LIKE(cust_first_name,'"[0-9]'))NOVALIDATE ;
C.ALTER TABLE CUSTOMERS ADD CONSTRAINT cust_f_name
CHECK(REGEXP_LIKE(cust_first_name,'[[:alpha:]]'))NOVALIDATE ;
D.ALTER TABLE CUSTOMERS ADD CONSTRAINT cust_f _name

CHECK(REGEXP_LIKE(cust_first_name,[[:digit:]]'))NOVALIDATE

Correct:C

3.Which three tasks can be performed using regular expression support in Oracle
Database 10g? (Choose three.)

A.lIt can be used to concatenate two strings.

B.It can be used to find out the total length of the string.

C.It can be used for string manipulation and searching operations.

D.It can be used to format the output for a column or expression having string data.

E.It can be used to find and replace operations for a column or expression having string

data.

Correct:CD E

4 View the Exhibit and examine the structure of the EMP table which is not partitioned and
not an index-organized table. Evaluate the following

SQL statement: ALTER TABLE emp DROP COLUMN

first_name;Which two statements are true regarding the above

command? (Choose two.)



EMP

Hame Hull®? Tvpe

EMENO NOT NULL NUMEER [ 4)
FITEET MNAME VARCHARS (20)
LAST MNAME VARCHARS (20)
SALARY NUMEBEE (10, 2}
DEPTNC NUMEER (2}

A.The FIRST_NAME column would be dropped provided it does not

contain any data.

B.The FIRST_NAME column would be dropped provided at least one or more columns
remain in the table.

C.The FIRST_NAME column can be rolled back provided the SET

UNUSED option is added to the above SQL statement.

D.The FIRST_NAME column can be dropped even ifit is part of a

composite PRIMARY KEY provided the CASCADE option is used.

Correct:B D

5.Evaluate the CREATE TABLE statement: CREATE TABLE

products (product_id NUMBER(6) CONSTRAINT prod_id_pk

PRIMARY KEY, product_name VARCHAR2(15));Which statement is

true regarding the PROD_ID_PK constraint?

A.It would be created only if a unique index is manually created first.

B.It would be created and would use an automatically created unique index.
C.It would be created and would use an automatically created nonunique
index.

D.lt would be created and remains in a disabled state because no index is

specified in the command.

Correct:B



6.Which two statements are true? (Choose two.)

A.The USER_SYNONYMS view can provide information about private

synonyms.

B.The user SYSTEM owns all the base tables and user-accessible views of

the data dictionary.

C.All the dynamic performance views prefixed with V$ are accessible to all

the database users.

D.The USER_OBJECTS view can provide information about the tables and

views created by the user only.

E.DICTIONARY is a view that contains the names of all the data dictionary

views that the user can access.

Correct:AE

7.View the Exhibit and examine the description of the ORDERS table.

Which twoWHERE clause conditions demonstrate the correct usage of

conversion functions? (Choose two.)

Table CUSTOME RS
e
Nams 7 [Tvpe ]
Name Null? CUSTO 4] Js] INUMBER®E) |
g 2 ; i CUST_FIRST_NAME  NOT NULL | vARCHAR2(20)
NOT NULL | TIMESTAMP{S) CUST_LAST NAME NOT NULL | VARCHARZ(20)
WITHLOCALTIMEZONE CUST_ADDRESS CUST_ADDRESS_TYP
VARCHARE(E) - JFHONE_NUNBERS PHONE_LIST_TYP
HLS_LANGUAGE VARCHARZ(3)
NUMBER|Z) NLS_TERRITORY WARCHARZ( 30
NUMBERIS,Z) CREDIT_LIMIT NUMBER(S.2)
NUMBER(E) CUST_EMAIL VARCHARZ(30)
NUMBERIB) ACCOUNT_MGR_ID NUMBERS)

CUST_GED_LOCATION

MDSYS.500 _GEOMETRY

Il
DATE_OF_BIRTH

DATE

WARITAL_STATUS VARCHARZ[20]
I s | GENDER VARCHARZ(1)
[PROD SRR [ TNCOWE_LEVEL VARCHARZ(ZD
PRODUCT_DESCRIPTION VARCHAR2(2000]
CATEGORY 1D NUMBER(2)
WEIGHT_CLASS WUMBER(1)
WARRANTY_PERIOD INTERVALYEARZ) ?—- [ ERl) |
TOMONTH | VARCHARZ(3) |
SUPPLIER_ID NUMBER(5) NVARCHAR2{50)
PRODUCT_BTATUS VARCHAR2{20) NVARCHAR2(2000)|
Li5T_PRICE WUMBER(B.2
WIN_PRICE NUMBER (8.2}
CATALOG_URL VARCHARZ(S0) [Tatie MRRERGUSES
Name ype
AREADUSE D [noT RULLINUMBER()
WAREHOUSE_SPEC Y5 XMLTYPE
WAREHOUSE_NAME VARCHARZ|35)
LOCATION_ID NUMBER(4)
WH_GEO_LOCATION MDSYS . SDO_GEOMETRY]

A.WHERE order_date > TO_DATE('JUL 10 2006','MON DD YYYY")

B.WHERE TO_CHAR(order_date,'MON DD YYYY")

C.WHERE order_date > TO_CHAR(ADD_MONTHS(SYSDATE,6),MON

'JAN 20 2003'




DD YYYY')

D.WHERE order_date IN ( TO_DATE('Oct 21 2003','Mon DD YYYY'),

TO_CHAR('NOV 21 2003','Mon DDYYYY") )

Correct:AB

8.View the Exhibit and examine the description of the EMPLOYEES

table. Your company decided to give a monthly bonus of $50 to all the

employees who have completed five years in the company. The following

statement is written to display the LAST_NAME, DEPARTMENT_ID,

and the total annual salary: SELECT last_name, department_id,

salary+50*12 "Annual Compensation”

FROMemployeesWHEREMONTHS_BETWEEN(SYSDATE,

hire_date)/12 >= 5;When you execute

the statement, the "Annual Compensation" is not computed correctly.

What changes would you make to the query to calculate the annual

compensation correctly?

HR

Table DEPARTMENTS
Name Null? Type
DEPARTMENT ID NOT NULL | NUMBER(4)

TAAK,_SALARY

NUMBER(S)

DEPARTMENT_MAME | NOT NULL | WVARCHAR2{30) = R2(40)
= { FOSTAL_CODE VARGHARZ(IZ)
1 : CITY NOT NULL | VARCHARZ(30)
STATE PROVINCE [VARCHARZ(25)
COUNTRY_ID CHAR(Z)
H /|\ \I/
Table JOB_HISTORY Table EMPLOYEES !
Name Null? Type L Name Null? Type M
EMPLOYEE_ID NOTNULL | NUMBER(S) ?_... EMPLOYEE_ID NOT NULL | NUMBER(E] Table COUNTRIES
START DATE NGTNULL | DATE FIRST_NAME VARCHARZ[Z0] >—I (Name  Jwuil? Type
END_DATE NOT NULL LAST_NAME NOT NULL | VARCHARZ(25) COUNTRY_ID NOT NULL | CHARIZ]
(0B iD I NOTNULL | vAREE (10} ] EMAIL NOT NULL[VARCHAR2{25)[ = "~ COUNTRY_NAME VARCHARZ{40)
DEPARTMENT_ID FHONE NUMBER VARCHARE(Z0) REGION_ID NUMBER
HIRE_DATE N
e ,2 Y
H
.._é ﬁ?t‘,ﬂ‘is;olt et :5:2::‘:” Lam REGIONS =
OB_TITLE N AR2[35) DEPARTMENT.ID NUMBER(4) R:rcnﬁjm 5] Nuo‘l‘ HULL mBEﬁ;q
MIN_SALARY NUMBER(E) REGION_NAME. VARCHARZ(40)

A.Change the SELECT clause to SELECT last_name, department_id,

salary*12+50 "Annual Compensation".

B.Change the SELECT clause to SELECT last_name, department_id,

salary+(50*12) "Annual Compensation".

C.Change the SELECT clause to SELECT last_name, department _id,




(salary+50)*12 "Annual Compensation".
D.Change the SELECT clause to SELECT last_name, department_id,

(salary*12)+50 "Annual Compensation".

Correct:C

9.Evaluate the following CREATE SEQUENCE statement: CREATE
SEQUENCE seq1 STARTWITH 100 INCREMENT BY 10
MAXVALUE 200 CYCLE NOCACHE; The sequence SEQ1 has
generated numbers up to the maximum limit of 200. You issue the
following SQL statement: SELECT seq1.nextval FROMdual;What is
displayed by the SELECT statement?

AA

B.10

C.100

D.an error

Correct:A

10.View the Exhibit and examine the description of the EMPLOYEES
table. You want to display the EMPLOYEE_ID, FIRST_NAME, and
DEPARTMENT_ID for all the employees who work in the same
department and have the same manager as that of the employee having
EMPLOYEE_ID 104. To accomplish the task, you execute the following
SQL statement: SELECT employee_id, first_name, department_id
FROMemployeesWHERE (manager _id, department_id) =(SELECT
department_id, manager_id FROMemployeesWHERE employee_id =
104) AND employee_id <> 104;When you execute the statement it does

not produce the desired output.What is the reason for this?



HR Table DEPARTMENTS Table LOCATIONS
LILD Nulr? Type [Name ________ JNull? (Type |
DEPARTMENT_ID | NOT NULL [NUMBER{4) LOGCATION 10 |NOT NULL|NUMBERML
DEPARTMENT_NAME | NOT NULL[VARCHARZ(30) STREET_ADDRESS VARCHARZ2(40)
MANAGER_ID NUMBERIE! == POSTAL CODE VARCHARZ[12)
CITY NOT NULL | VARCHARZ(30)
H STATE PROVINCE WARCHAR2(25)
COUNTRY_ID CHAR{Z)
H A = =
Table JOB_HISTORY Table EMPLOYEES \!/
Nama Nuil ? Type Name Mull? Type i
EMPLOYEE_ID NOT NULL | NUMBER(E) >_. « o EMPLOYEE_ID NOT NULL |NUMBER(E Table COUNTRIES
START_DATE NOT HULL | DATE FIRST_NAME VARCHARZ(20) [Name Wuil? Type
END_DATE NOTNULL | DATE LAST_WAME NOT NULL COUNTRY_ID WOT NULL | CHAR{ZY
0B I0 ITHULL § WARCHA EMAIL NOT NULL COUNTRY_NAME VARCHARZ(40)
DEPARTMENT_ID NUMBER({4) PHONE NUMBER REGION_ID NUMBER
HIRE_DATE NGT NULLJDATE - \|/
L2002 00 ! ! COMMISEION PET T H
‘ INUMBER(2.2) |
ml - NMANAGER ID NUMBER(S %‘m e -
OB_ VARCHARZ DEPARTMENTID NUBBER REGION 1D NOT NULL| NUWBER{4)
WIN_SALARY NUMBERIE) REGION_NAME VARI )
AN _SALARY NUMBER(E)

A.The WHERE clause condition in the main query is using the =

comparison operator, instead of EXISTS.

B.The WHERE clause condition in the main query is using the

comparison operator, instead of the IN Operator.

C.The WHERE clause condition in the main query is using the

comparison operator, instead of the = ANY operator.

D.The columns in the WHERE clause condition of the main query and the

columns selected in the subquery should be in the same order.

Correct:D




